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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

=◊‡ˆV◊[˝VÓÁ ( Botany ) 
 aä] Yy (7th Paper : Plant Physiology) 

a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 50 
Time : 2 Hours Full Marks : 50 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

◊[˝\ˆÁG — Eı 

 Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 

1* Ã[˝„aÃ[˝ =d‰ÿÉˆÁTˆ a+„EÔı %◊W˝Y“ÁS ]Tˆ[˝ÁV [˝ÓÁFÓÁ EıÃ[˝”X * 
Ac˜O `ÁÃ[˝›Ã[˝[˝ w¯›Ã^ Y“◊y‘Ã^ÁÃ^ aea◊N˛ C %ÁatX [˝„_Ã[˝ \…ˆ◊]EıÁ 
=‰{F EıÃ[˝”X * ]…_L ªJÙÁY EıÁ„Eı [˝„_ ?  3 + 6 + 1 

2* =◊‡ˆ„VÃ[˝ Y◊Ã[˝„YÁbEı Ã[˝÷„Y EıÓÁ_◊aÃ^Á] C ]ÓÁÜÁ◊X„LÃ[˝ 
\…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X * ]«„á˚Ã[˝ \ˆÃ[˝Y“[˝Ác˜ ]Tˆ[˝ÁV◊ªRÙO [˝ÓÁFÓÁ 
EıÃ[˝”X * P-ÊY“Á◊ªRÙOX EıÁ„Eı [˝„_ ?  4 + 4 + 2 

3* ÆœÙ◊YEı ªJÙ_„X %◊j„XÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X * 
◊L[[˝Á„Ã[˝◊_„XÃ[˝ ]ÁW˝Ó„] α-%ÓÁ]Ác˜O„_L ae‰`¿b Y“◊y‘Ã^Á◊ªRÙO 
[˝SÔXÁ EıÃ[˝”X * 5 + 5 

4* aÁ„_ÁEıae‰`¿„bÃ[˝ %Á„_ÁEı V`ÁÃ[˝ ◊[˝◊\ˆ~ W˝ÁYm◊_ =‰{F 
EıÃ[˝”X * c˜O„_EıÆœÙX Y◊Ã[˝[˝c˜S Tˆ„‹óˆÃ[˝ ÂEıÁXÀ Y^ÔÁ„Ã^ 
ÂZıÁ‰ªRÙOÁZıa„ZıÁÃ[˝Ác˜O„_`X a+~ c Ã̃^ ? ÂEıÁXÀ ÂEıÁXÀ Âl˘‰y `üÁa 
%X«YÁTˆ 0 A[˝e 1 c Ã̃^ ?  6 + 2 + 2 

◊[˝\ˆÁG — Fı 

 Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 

5* ª%Á„_ÁEı`üa„XÃ[˝ ÂEıÁXÀ Y Ô̂Á„Ã^ G¿Ác˜O◊aX ÂU„Eı Âa◊Ã[˝X 

%ÓÁ]Ác Õ„XÁ %∂⁄ˆ =dY~ c Ã̃^ ? `üaX C %Á„_ÁEı`üa„XÃ[˝ ªJÙÁÃ[˝◊ªRÙO 

Y“„\ˆV =‰{F EıÃ[˝”X * 2 + 4 

6* ] ◊w¯EıÁÃ[˝ L_W˝ÁÃ[˝S l˘]TˆÁ EıÁ„Eı [˝„_ ? [˝ÁπY„]ÁªJÙX C 

◊X:ÿÉˆÁ[˝„XÃ[˝ ]„W˝Ó Y“„\ˆV Eı› ? [˝ÁπY„]ÁªJÙX„Eı ÂEıX 

"Y“„Ã^ÁLX›Ã^ l˘◊Tˆ' [˝_Á c˜Ã^ ? 2 + 2 + 2 

7* FÁVÓ Y◊Ã[˝[˝c˜„X %ÓÁ„YÁY¿Á◊∫RÙOEı C ◊a]Y¿Á◊∫RÙOEı YU [˝_„Tˆ ◊Eı 

Â[˝ÁMıÁÃ^ ? =◊‡ˆV [˝ ◊à˘Ã[˝ ◊[˝◊\ˆ~ Y^ÔÁÃ^m◊_ Â_F◊ªJÙ‰yÃ[˝ ]ÁW˝Ó„] 

[˝ÓÁFÓÁ EıÃ[˝”X * 2 + 4 
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8* c˜O◊U◊_„XÃ[˝ ◊TˆX◊ªRÙO Y“W˝ÁX `ÁÃ[˝›Ã[˝[˝ w¯›Ã^ ◊y‘Ã^Á =‰{F EıÃ[˝”X * 

aÁc Õ‰ªRÙOÁEıÁc˜O◊XX ◊Eı\ˆÁ„[˝ [˝ÁW˝Ô„EıÓÃ[˝ ◊[˝_∂ëˆTˆÁ„Eı Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝ 

TˆÁ ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X * 3 + 3 

9* Â_Á◊c˜Tˆ ªJ«ÙÓ◊Tˆ C c Õ]ÁÃ[˝aX Y“\ˆÁ[˝ [˝ÓÁFÓÁ EıÃ[˝”X * 3 + 3 

10* C4 =◊‡ˆ„VÃ[˝ Y“W˝ÁX È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X * Ac˜O W Ã̋[˝„XÃ[˝ 

=◊‡ˆ„VÃ[˝ aÁ„_ÁEıae‰`¿„bÃ[˝ l˘]TˆÁ a[˝‰ªJÙ„Ã^ Â[˝`› ÂEıX ? 

  4 + 2 

◊[˝\ˆÁG — Gı 

 Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 

11* Z¿«ıc˜OQˆ Â]ÁLÁc˜OEı ]„Qˆ„_Ã[˝ È[˝◊`rÙÓ ae„l˘„Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X * [˝ÓÁY„XÃ[˝ V«◊ªRÙO Y“\ˆÁ[˝„EıÃ[˝ XÁ] ◊_F«X * 2 + 1 

12* ÂEıÁ`Á‹ôˆÃ[˝ %◊\ˆÿÉˆ[˝S EıÁ„Eı [˝„_ ? ÈEı◊`Eı L_ Eı› ? 2 + 1 

13* ◊[˝p˚ÁX› c˜Á◊ªRÙO¤„GÃ[˝ [˝_Ã^ YÃ[˝›l˘Á ◊Eı Y“]ÁS Eı„Ã[˝ ? ÊZ¿ıÁ„Ã^] 

Ã[˝„aÃ[˝ Y“W˝ÁX =YÁVÁXm◊_Ã[˝ XÁ] =‰{F EıÃ[˝”X * 1 + 2 

14* %ÓÁ[˝◊a◊aEı %‰∂⁄ˆÃ[˝ V«◊ªRÙO `ÁÃ[˝›Ã[˝[˝ w¯›Ã^ \…ˆ◊]EıÁ =‰{F EıÃ[˝”X * 

AEı◊ªRÙO E ı◊≈y] %◊j„XÃ[˝ XÁ] ◊_F«X * 2 + 1 

15* Âc˜ªRÙOÁ„Ã[˝Á_ÓÁEı◊ªRÙOEı aμ˘ÁX EıÁ„Eı [˝„_ ? ÂEıÁXÀ %S«L›[˝ c ÕUÁc˜O_ 

%ÓÁ_„EıÁc˜_ =dY~ Eı„Ã[˝ ?  2 + 1 

16* ◊aaÀ„]ÁXÓÁ◊∫RÙO ÂEıÁXÀ =◊‡ˆ„V _l˘Ó EıÃ[˝Á ^ÁÃ^ ? ÿëˆTˆ:ÿˆï…ıTˆ¤ 

[˝y‘ªJÙ_„XÃ[˝ aep˚Á C =VÁc˜Ã[˝S ◊VX * 1 + 2 

17* Pr A[˝e Pfr-AÃ[˝ a+…SÔ XÁ] ◊_F«X * aeEıªRÙO %Á„_ÁEıEıÁ_ 

EıÁ„Eı [˝„_ ? 2 + 1 

18* XÁc Õ‰ÆœÙÁ„L„X„aÃ[˝ ÈL[˝ Ã[˝ÁaÁÃ̂ ◊XEı ◊[˝◊y‘Ã̂ Á ae„l˘„Y 

%Á„_ÁªJÙXÁ EıÃ[˝”X * nod ZıÓÁkÙ„Ã[˝Ã[˝ \…ˆ◊]EıÁ Eı› ? 2 + 1 
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Group – A 

 Answer any two questions : 10 × 2 = 20 

1. Explain the vitalistic theory regarding ascent of 

sap. Mention the roles of cohesive and adhesive 

forces in this physiological process. What is root 

pressure ? 3 + 6 + 1 

2. Discuss the role of Calcium and Manganese as 

plant nutrient. Explain Munch’s flow hypothesis. 

What is P-protein ? 4 + 4 + 2 

3. Discuss the role of auxin in tropic movement. 

Describe   the   mechanism   of   gibberellin   

induced   α-amylase synthesis. 5 + 5 

4. Mention different steps of light reaction of 

photosynthesis. In which step of electron 

transport system does photophosphorylation 

occur ? At what conditions do respiratory 

quotients become 0 and 1 ? 6 + 2 + 2 

Group – B 

 Answer any three questions : 6 × 3 = 18 

5. In which step of photorespiration glycine is 

converted into serine amino acid ? Write four 

differences between respiration and 

photorespiration. 2 + 4 

6. What is meant by water holding capacity of soil ? 

Mention the difference between transpiration and 

guttation. Why is transpiration called ‘necessary 

evil’ ? 2 + 2 + 2 

7. What is meant by apoplastic and symplastic 

pathway in transport of food ? Explain different 

phases of plant growth graphically. 2 + 4 

8. Mention three physiological roles of ethylene. 

Discuss briefly the role of cytokinin to delay the 

aging process. 3 + 3 

9. Explain red drop and Emerson effect. 3 + 3 

10. Enumerate the major characteristic features of 

4C  plant. Why are such plants 

photosynthetically most efficient ? 4 + 2 
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Group – C 

 Answer any four questions : 3 × 4 = 12 

11. Briefly discuss the features of fluid mosaic 

model. Mention two factors which influence 

diffusion. 2 + 1 

12. What is meant by cell to cell osmosis ? What is 

capillary water ? 2 + 1 

13. What does ringing experiment of Hartig prove ? 

Write the major components of phloem sap. 1 + 2 

14. Mention two physiological roles of abscisic acid. 

Name a synthetic auxin. 2 + 1 

15. What is heterolactic fermentation ? Which 

microbe produces ethyl alcohol ? 2 + 1 

16. In which plant is sysmonasty noticed ? Define 

autonomic movement of curvature with example. 

  1 + 2 

17. Write the full forms of Pr and Pfr. What is critical 

photoperiod ? 2 + 1 

18. Briefly explain biochemical reactions catalysed 

by nitrogenase. What is the role of nod factor ? 

  2 + 1 

    


